

Multiply by 10^{-3} (C)

Find each product.

$$47 \times 10^{-3} =$$

$$67 \times 10^{-3} =$$

$$33 \times 10^{-3} =$$

$$27 \times 10^{-3} =$$

$$6 \times 10^{-3} =$$

$$95 \times 10^{-3} =$$

$$26 \times 10^{-3} =$$

$$89 \times 10^{-3} =$$

$$3 \times 10^{-3} =$$

$$56 \times 10^{-3} =$$

$$68 \times 10^{-3} =$$

$$44 \times 10^{-3} =$$

$$29 \times 10^{-3} =$$

$$3 \times 10^{-3} =$$

$$14 \times 10^{-3} =$$

$$62 \times 10^{-3} =$$

$$93 \times 10^{-3} =$$

$$75 \times 10^{-3} =$$

$$62 \times 10^{-3} =$$

$$57 \times 10^{-3} =$$